
  

  

Distribution Design Catalogue  

 

 

 

 
© Copyright of Western Power 
ABN 18540492861 

 

 
 
 
 
 
 
 

High Voltage Hendrix 
 

Section 01B (HX) 



HX – High Voltage Hendrix  

Uncontrolled document when printed.  Printed copy expires one week from print date.  
2 of 26                                   Printed 19/12/2019                                                                                       DM #34025642 

HX Drawings Revision List 
CU Date Revision Description of Revision 
 Feb 2009  Original issue 

 Dec 2009  Revised Format 

 Jul 2014  Refer to Amendment LIst 

 Jan 2015  Refer to Amendment LIst 

 Mar 2015  Refer to Amendment LIst 

 Aug 2015  Refer to Amendment LIst 

 Sept 2015  Refer to Amendment LIst 

 June 2016  Refer to Amendment LIst 

 Dec 2019  Refer to Amendment LIst 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

© Copyright of Western Power  

Any use of this material except in accordance with a written agreement with Western Power 
is prohibited. 

 



HX – High Voltage Hendrix  

Uncontrolled document when printed.  Printed copy expires one week from print date.  
3 of 26                                   Printed 19/12/2019                                                                                       DM #34025642 



HX – High Voltage Hendrix  

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 4 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

High Voltage Hendrix Conductor, CU List 

CU Description 

HX1_I HENDRIX Intermediate 0º-2º 

HX2_IA HENDRIX Intermediate Angle 3º-30º 

HX3_IA HENDRIX Intermediate Angle 31º -60º 

HX4_SA_150 HENDRIX Strain Angle 61º-90º  

HX5_T_150 HENDRIX Termination 

HX6_1_TSA150 HENDRIX Termination on Surge Arresters 

HX6_2_TSA150 HENDRIX Termination on Surge Arresters w/o X-arm 

HX7_TST150 HENDRIX Termination Series Tap Terminated Messenger Wire 

HX8_ITO HENDRIX Intermediate Tap-off 

HX9_150 HENDRIX Mid span full tension joint 

HX10_IX HENDRIX Intermediate pole crossing 

 
 
 

 



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 5 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

 



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 6 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

 
CU CU Description 

 

HX1_I HENDRIX Intermediate 0⁰-2⁰ 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 IC0094 Hendrix Intermediate Bracket 1 ea  

2 IC0091 Hendrix Spacer 46kV 1 ea  

3 AS1443 Coach Screw, Steel, Galv, M12 100mm 1 ea  

4 AB6733 Pole bolt M16 x 400mm with washers 2 ea  

5 IC0093 Anti-Sway Bar 1 ea  

 
 



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 7 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 8 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

 
CU CU Description 

 

HX2_IA HENDRIX Intermediate Angle 3⁰-30⁰ 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 IC0095 
Angle Bracket 
3 x Line Post Insulators (Hendrix) 
3 x Studs 

1 ea  

2 IC0098 Covered Tie Wire 3 ea  

3 AB6733 Pole bolt M16 x 400mm with washers 2 ea  

4 CC0167 Messenger wire Angle Clamp 1 ea  

5 AB6025 Eye Bolt, M16 x 400mm with washers 1 ea  

 
 
 
  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 9 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 10 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

CU CU Description 
 

HX3_IA HENDRIX Intermediate Angle 31⁰-60⁰ 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 IC0096 

Angle Bracket 
6 x Line Post Insulators (Hendrix) 
6 x Studs 
3 x Double Insulator Plate 

1 ea  

2 IC0098 Covered Tie Wire 6 ea  

3 AB6733 Pole bolt M16 x 400mm with washers 2 ea  

4 IC0105 Dead-end Grip, Messenger wire 2 ea  

5 CT0011 Clevis Thimble, Cond. 7/2.50 - 19/3.25 2 ea  

6 AB6025 Eye Bolt, M16 x 400mm with washers 2 ea  

 



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 11 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 12 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

CU CU Description 
 

HX4_SA_150 HENDRIX Strain Angle 61-90 Deg 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 IC0097 

Termination Bracket 
3 x Thimble clevis 
3 x D-shackle 
3 x Strain Insulators 

2 ea  

2 IC0108 Dead-end Grip 150mm2 Neoprene Coated 6 ea  

3 AB6733 Pole bolt M16 x 400mm with washers 4 ea  

4 AB6025 Eye Bolt, M16 x 400mm with washers 2 ea  

5 IC0100 Line Post Insulator (Hendrix) 2 ea  

6 IC0105 Dead-end Grip, Messenger wire 2 ea  

7 CT0011 Clevis Thimble, Cond. 7/2.50 - 19/3.25 2 ea  

8 CP0099 Insulator Stud 2 ea  

9 IC0098 Covered Tie Wire 2 ea  

 
  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 13 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 14 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

CU CU Description 
 

HX5_T_150 HENDRIX Termination 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 IC0097 

Termination Bracket 
3 x Thimble clevis 
3 x D - shackle 
3 x Strain Insulators 

1 ea  

2 IC0108 Dead-end Grip 150mm2 Neoprene Coated 3 ea  

3 AB6733 Pole bolt M16 x 400mm with washers 2 ea  

4 AB6025 Eye Bolt, M16 x 400mm with washers 1 ea  

5 IC0105 Dead-end Grip, Messenger wire 1 ea  

6 CT0011 Clevis Thimble, Cond. 7/2.50 - 19/3.25 1 ea  

7 FL0402 BiMetal Lug 150mm2, Al barrel, Cu Palm 3 ea  

8 IC0104 Insulation Sleeve for Termination Lug on Hendrix 3 ea  

 
  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 15 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 16 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

CU CU Description 
 

HX6_1_TSA150 HENDRIX Termination on Surge Arresters 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 CB1121 Crossarm, Metal 2.4m Long 1 ea  

2 CB3025 HV Crossarm T-Bracket 1 ea  

3 CC0125 PG Clamp Bi-Metal 25 - 150sq 1 ea  

4 IC0108 Dead-end Grip 150mm2; Neoprene Coated 3 ea  

5 AB6733 Pole bolt M16 x 400mm with washers 2 ea  

6 CB3060 Metal Retaining Strap 50mm x 1.3m 1 ea  

7 FL0402 BiMetal Lug 150mm2, Al barrel, Cu Palm 3 ea  

8 IC0105 Dead-end Grip, Messenger wire 1 ea  

9 CT0011 Clevis Thimble, Cond. 7/2.50 - 19/3.25 1 ea  

10 CT0015 Clevis Thimble, Cond. 37/3.78 (400mm2) 3 ea  

11 AB6020 Eye Bolt M16 x 200mm with washers 3 ea  

12 GA4002 Surge Arrester 22kV, 10kA 3 ea  

13 GF1591 Copper Bus Conductor plate 3 ea  

14 IC0109 Insulation Sleeve 1 ea  

15 CB0486 Stand-off bracket 3 ea  

16 CE7541 Dispersion Plate 2 ea  

17 IC0104 Insulation Sleeve for Termination Lug on Hendrix 3 ea  

18 CC0511 PG Clamp cu 19/211-37/2.36 1 ea  

 
  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 17 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 18 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

CU CU Description 
 

HX6_2_TSA150 HENDRIX Termination on Surge Arresters w/o X-arm 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 CC0125 PG Clamp Bi-Metal 25 - 150sq 1 ea  

2 IC0108 Dead-end Grip 150mm2, Neoprene Coated 3 ea  

3 CB3060 Metal Retaining Strap 50mm x 1.3m 1 ea  

4 FL0402 BiMetal Lug 150mm2, Al barrel, Cu Palm 12 ea  

5 IC0105 Dead-end Grip, Messenger wire 1 ea  

6 CT0011 Clevis Thimble, Cond. 7/2.50 - 19/3.25 1 ea  

7 CT0015 Clevis Thimble, Cond. 37/3.78 (400mm2) 3 ea  

8 AB6020 Eye Bolt M16 x 200mm with washers 3 ea  

9 CZ0366 Crossarm Bolt 130mm Long Steel,Galv 3 ea  

10 GA4002 Surge Arrester 22kV, 10kA 3 ea  

11 GF1591 Copper Bus Conductor plate 3 ea  

12 IC0109 Insulation Sleeve 1 ea  

13 IC0013 Strain Insulator 3 ea  

14 FT0150 LVABC 150sq mm 4x4m 1 ea  

15 CE7541 Dispersion Plate 3 ea  

16 IC0104 Insulation Sleeve for Termination Lug on Hendrix 12 ea  

17 CB3002 Crossarm bird cover 4 ea  

 
  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 19 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 20 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

CU CU Description 
 

HX7_TST150 HENDRIX Termination Series Tap Terminated Messenger Wire 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 CB1121 Crossarm, Metal 2.4m Long 1 ea  

2 CB3025 HV Crossarm T-Bracket 1 ea  

3 GA4002 Surge Arrester 22kV, 10kA 6 ea  

4 CC0125 PG Clamp Bi-Metal 25 - 150sq 2 ea  

5 IC0108 Dead-end Grip 150mm, Neoprene Coated 6 ea  

6 AB6733 Pole bolt M16 x 400mm with washers 2 ea  

7 CB3060 Metal Retaining Strap 50mm x 1.3m 2 ea  

8 CC0511 PG Clamp cu 19/211-37/2.36 2 ea  

9 IC0105 Dead-end Grip, Messenger wire 2 ea  

10 CT0011 Clevis Thimble, Cond. 7/2.50 - 19/3.25 2 ea  

11 CT0015 Clevis Thimble, Cond. 37/3.78 (400mm2) 6 ea  

12 AB6020 Eye Bolt M16 x 200mm with washers 6 ea  

13 FL0402 BiMetal Lug 150mm2, Al barrel, Cu Palm 6 ea  

14 GF1591 Copper Bus Conductor plate 6 ea  

16 IC0109 Insulation Sleeve 2 ea  

17 CB0486 Stand-off bracket 6 ea  

18 CE7541 Dispersion Plate 2 ea  

19 IC0104 Insulation Sleeve for Termination Lug on Hendrix 6 ea  

 
  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 21 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

 



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 22 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

 
CU CU Description 

 

HX8_ITO HENDRIX Intermediate Tap-off 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 IC0109 Insulation Sleeve 2 ea  

2 CC0138 PG Clamp Al 7/2.50 - 19/3.25 3 ea  

3 FJ0186 Joint Cover, Gel-Wrap 3 ea  

 
  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 23 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

 



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 24 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

 
 

CU CU Description 
 

HX9_150 Mid span full tension joint 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 IC0109 Insulation Sleeve 1 ea  

2 CJ0490 Full tension crimp joint 3 ea  

3 IC0103 Insulation cover, cold shrink, set of three 1 ea  

 
  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 25 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

  



HX – High Voltage Hendrix 

Uncontrolled document when printed.  Printed copy expires one week from print date. 
 26 of 26                                                                    Printed 19/12/2019                                                                                                                   DM #4367570 

 

CU CU Description 

 

HX10_IX Intermediate pole crossing 

ITEM 

NUMBER 
STOCK 

CODE 
DESCRIPTION 

QTY 

RQD 
UNIT OF 

MEASURE 
REMARKS 

1 IC0109 Insulation Sleeve 2 ea  

2 IC0094 Hendrix Intermediate Bracket 2 ea  

3 IC0100 Line Post Insulator (Hendrix) 6 ea  

4 CP0099 Insulator Stud 6 ea  

5 IC0098 Covered Tie Wire 6 ea  

6 IC0102 Hendrix L bracket 2 ea  

7 AB6733 Pole bolt M16 x 400mm with washers 4 ea  

8 CC0138 PG Clamp Al 7/2.50 - 19/3.25 6 ea  

9 FJ0186 Joint Cover, Gel-Wrap 6 ea  

10 AB6736 Pole bolt M12 x 400mm with washers 4 ea  

 
 
 


